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 Autograph Activity                     Differentiating ln(ax)
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 Open a new Graph Page (Advanced level) and [image: image3.png]


 Drag the graph so x > 0
 [image: image4.png]


 Enter Equation y = ln(ax)  then [image: image5.png]


 attach a point to the curve at x = 2
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 Select this point only then right click to add Tangent.
(Confirm the gradient at x = 2 
is ½
	[image: image7.png]I Equation 1: y=inx






	
[image: image8.wmf] By moving the point along the curve complete the table opposite


	
	
	

	
	Value of x
	Gradient of tangent (decimal)
	Gradient of tangent (as a fraction)

	
	1
	
	

	
	2
	0.5
	½

	
	3
	
	

	
	4
	
	

	
[image: image9.wmf] Repeat all the above for the functions y = ln 2x , y = ln 3x , and y = ln 4x to enable you to complete this table ([image: image10.png].1
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 Constant Controller to change ‘a’):

	

	x
	Gradient of tangent to y = ln 2x
	
	Gradient of tangent to y = ln 3x
	
	Gradient of tangent to y = ln 4x

	½
	
	
	
	
	

	1
	
	
	
	
	

	2
	
	
	
	
	

	3
	
	
	
	
	

	4
	
	
	
	
	

	

	
[image: image11.wmf] If you have spotted the 
pattern you should be able to complete the statement 
opposite!
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[image: image13.wmf]Explain this result using laws of logs! . . . Ask your teacher to check this!!
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